Chiang Lin; Jen-Ling Shang Statuses and branch-weights of weighted trees

Czechoslovak Mathematical Journal, Vol. 59 (2009), No. 4, 1019–1025

Persistent URL: http://dml.cz/dmlcz/140533

# Terms of use:

© Institute of Mathematics AS CR, 2009

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# STATUSES AND BRANCH-WEIGHTS OF WEIGHTED TREES

CHIANG LIN, Chung-Li, and JEN-LING SHANG, Tao-Yuan

(Received May 3, 2008)

Abstract. In this paper we show that in a tree with vertex weights the vertices with the second smallest status and those with the second smallest branch-weight are the same.

*Keywords*: tree, status, branch-weight, median, centroid, second median, second centroid *MSC 2010*: 05C12

# 1. INTRODUCTION

All graphs considered in this paper are finite, simple, and without loops. If G is a graph and there exists a weight function  $w: V(G) \cup E(G) \to R^+$ , then (G, w) is a weighted graph.

For a connected weighted graph (G, w), pertinent definitions and notation are given below.

For a path P in G, the weight length of P, denoted by  $l_w(P)$ , is defined by

$$l_w(P) = \sum_{e \in E(P)} w(e).$$

For vertices x, y in G, the weight distance between x and y, denoted by  $d_w(x, y)$ , is defined by

$$d_w(x,y) = \min l_w(P),$$

where the minimum is taken over all paths P joining x and y.

For any vertex x of G, the status of x, denoted by s(x), is defined by

$$s(x) = \sum_{y \in V(G)} w(y) d_w(y, x).$$

The median of G, denoted by  $M_1(G)$ , is the set of vertices in G with the smallest status, i.e.,  $M_1(G) = \{t \in V(G): s(t) \leq s(x) \text{ for all } x \in V(G)\}.$ 

The second median of G, denoted by  $M_2(G)$ , is the set of vertices in G with the second smallest status, i.e.,  $M_2(G) = \{t \in V(G) - M_1(G): s(t) \leq s(x) \text{ for all } x \in V(G) - M_1(G)\}.$ 

The weight of G, denoted by w(G), is defined by

$$w(G) = \sum_{x \in V(G)} w(x).$$

Note that by definition, the weight of a connected weighted graph is independent of the weights of its edges.

If T is a tree and (T, w) is a weighted graph, then we say that (T, w) is a weighted tree.

For a weighted tree (T, w), we give the following definitions and notation.

For any vertex x of T, the branch-weight of x, denoted by bw(x), is the maximum weight of any component of T - x.

The centroid of T, denoted by  $C_1(T)$ , is the set of vertices in T with the smallest branch-weight, i.e.,  $C_1(T) = \{t \in V(T): bw(t) \leq bw(x) \text{ for all } x \in V(T)\}.$ 

The second centroid of T, denoted by  $C_2(T)$ , is the set of vertices in T with the second smallest branch-weight, i.e.,  $C_2(T) = \{t \in V(T) - C_1(T) : bw(t) \leq bw(x) \text{ for all } x \in V(T) - C_1(T)\}.$ 

B. Zelinka [4] showed that any tree with constant weight function has its median equal to its centroid. A. Kang and D. Ault [2] extended the result to any weighted tree with constant vertex weight. O. Kariv and S. L. Hakimi [3] extended the result further to any weighted tree.

**Proposition 1.1** [3, Lemma 3.1]. Let (T, w) be a weighted tree and x a vertex in T. Then x is in the centroid of T if and only if  $bw(x) \leq \frac{1}{2}w(T)$ .

**Proposition 1.2** [3, Theorem 3.1]. Any weighted tree has its median equal to its centroid.

The purpose of this paper is to prove the following result.

**Theorem 3.3.** Let (T, w) be a weighted tree with w(e) = 1 for each  $e \in E(T)$ . Then  $M_2(T) = C_2(T)$ .

### 2. Some remarks

In this section, we give some remarks which we need for our discussions. Let us begin with those about statuses and medians. Though the main result deals with weighted trees, we state the remarks for connected weighted graphs if possible.

**Remark 2.1.** Let (G, w) be a connected weighted graph. Suppose that x, y are vertices in G such that xy is a cut edge. Let  $G_x, G_y$  be the components of G - xy with  $x \in V(G_x), y \in V(G_y)$ . Then we have  $s(x) - s(y) = w(xy)(w(G_y) - w(G_x))$ .

Proof.

$$\begin{split} s(x) - s(y) &= \sum_{t \in V(G)} w(t)(d_w(t, x) - d_w(t, y)) \\ &= \sum_{t \in V(G_x)} w(t)(d_w(t, x) - d_w(t, y)) + \sum_{t \in V(G_y)} w(t)(d_w(t, x) - d_w(t, y)) \\ &= \sum_{t \in V(G_x)} w(t)(-w(xy)) + \sum_{t \in V(G_y)} w(t)(w(xy)) \\ &= w(xy)(w(G_y) - w(G_x)). \end{split}$$

**Remark 2.2.** Let (G, w) be a connected weighted graph. Suppose that  $x_1, x_2, \ldots, x_k$   $(k \ge 2)$  are vertices in G such that  $x_1x_2 \ldots x_k$  is a path and, for  $i = 1, 2, \ldots, k - 1$ , each  $x_ix_{i+1}$  is a cut edge of G with  $w(x_ix_{i+1}) = 1$ . Let  $G_1, G_2, \ldots, G_k$  be the components of  $G - \{x_1x_2, x_2x_3, \ldots, x_{k-1}x_k\}$  with  $x_i \in V(G_i)$  for  $i = 1, 2, \ldots, k$ . Then

$$s(x_1) - s(x_k) = \sum_{i=1}^{k} (-k - 1 + 2i)w(G_i).$$

Proof. We prove the result by induction on k. By Remark 2.1 this is true for k = 2. Suppose the result holds for  $k \ge 2$ . Now  $x_1x_2 \dots x_kx_{k+1}$  is a path in Gsuch that each  $x_ix_{i+1}$  is a cut edge of G with  $w(x_ix_{i+1}) = 1$  for  $i = 1, 2, \dots, k$ , and  $G_1, G_2, \dots, G_k, G_{k+1}$  are components of  $G - \{x_1x_2, x_2x_3, \dots, x_{k-1}x_k, x_kx_{k+1}\}$  with  $x_i \in V(G_i), i = 1, 2, \dots, k, k+1$ . Applying the induction hypothesis to the path  $x_1x_2 \dots x_k$  we have  $s(x_1) - s(x_k) = \sum_{i=1}^{k-1} (-k-1+2i)w(G_i) + (k-1)(w(G_k) + w(G_{k+1}))$ . Considering the path  $x_kx_{k+1}$  we have  $s(x_k) - s(x_{k+1}) = -(w(G_1) + w(G_2) + \dots +$ 

 $w(G_k)) + w(G_{k+1})$ . Thus

$$s(x_{1}) - s(x_{k+1}) = (s(x_{1}) - s(x_{k})) + (s(x_{k}) - s(x_{k+1}))$$

$$= \sum_{i=1}^{k-1} (-k - 1 + 2i)w(G_{i}) + (k - 1)(w(G_{k}) + w(G_{k+1}))$$

$$- (w(G_{1}) + w(G_{2}) + \ldots + w(G_{k})) + w(G_{k+1})$$

$$= \sum_{i=1}^{k-1} (-k - 2 + 2i)w(G_{i}) + (k - 2)w(G_{k}) + k \cdot w(G_{k+1})$$

$$= \sum_{i=1}^{k+1} (-k - 2 + 2i)w(G_{i})$$

$$= \sum_{i=1}^{k+1} (-(k + 1) - 1 + 2i)w(G_{i}).$$

This completes the proof.

**Remark 2.3.** Let (G, w) be a connected weighted graph. Suppose that  $x_1, x_2, \ldots, x_k$   $(k \ge 3)$  are vertices in G such that  $x_1x_2 \ldots x_k$  is a path, and for  $i = 1, 2, \ldots, k - 1$ ,  $x_ix_{i+1}$  is a cut edge of G. If  $s(x_1) \le s(x_2)$ , then  $s(x_2) < s(x_3) < s(x_4) < \ldots < s(x_k)$ .

Proof. It suffices to show that  $s(x_2) < s(x_3)$ . Let  $G_1, G_2, G_3$  be the components of  $G - \{x_1x_2, x_2x_3\}$  such that  $x_i \in V(G_i)$ , i = 1, 2, 3. By Remark 2.1,

$$s(x_1) - s(x_2) = w(x_1x_2)((w(G_2) + w(G_3)) - w(G_1)),$$
  

$$s(x_2) - s(x_3) = w(x_2x_3)(w(G_3) - (w(G_1) + w(G_2))).$$

Since  $s(x_1) \leq s(x_2)$ , we have  $w(G_2) + w(G_3) - w(G_1) \leq 0$ , which implies that  $w(G_3) - w(G_1) - w(G_2) < 0$  for  $w(G_2) > 0$ . Thus  $s(x_2) < s(x_3)$ .

The above remark for trees with constant weight functions appeared in [1, Theorem 3.3].

**Remark 2.4.** The median of a weighted tree consists either of one single vertex or two vertices which are adjacent.

Proof. This follows immediately from Remark 2.3.  $\Box$ 

The following remarks concern branch-weights of weighted trees.

**Remark 2.5.** Let x be a vertex of a weighted tree (T, w) and B a component of T - x such that bw(x) = w(B). Then

(1) bw(y) > bw(x) for each  $y \in V(T) - (V(B) \cup \{x\})$ ,

(2) if  $y \in V(T) - \{x\}$  and  $bw(y) \leq bw(x)$  then  $y \in V(B)$ .

Proof. (1) Let B' be the component of T - y such that  $x \in V(B')$ . Then  $V(B') \supset \{x\} \cup V(B)$ . Hence  $bw(y) \ge w(B') > w(B) = bw(x)$ .

(2) This follows from (1).

**Remark 2.6.** Let  $x_1x_2...x_k$   $(k \ge 3)$  be a path in a weighted tree (T, w) where  $bw(x_1) \le bw(x_2)$ . Then  $bw(x_2) < bw(x_3) < bw(x_4) < ... < bw(x_k)$ .

Proof. It suffices to show that  $bw(x_2) < bw(x_3)$ . Let B be a component of  $T - x_2$  such that  $bw(x_2) = w(B)$ . By Remark 2.5(2),  $x_1 \in V(B)$ . From  $x_1 \in V(B)$  and  $x_2 \notin V(B)$ , we see that  $x_3 \notin V(B)$ . Since B is a component of  $T - x_2$  such that  $bw(x_2) = w(B)$ , by Remark 2.5(1), we conclude that  $bw(x_3) > bw(x_2)$ .

#### 3. Main result

For a graph G and  $A \subset V(G)$ , we use N(A) to denote the set

 $\{x \in V(G) - A \colon x \text{ is adjacent to some vertex in } A\}.$ 

**Lemma 3.1.** Let (T, w) be a weighted tree with w(e) = 1 for each  $e \in E(T)$ . For each  $x \in N(M_1(T))$ , let  $T_x$  denote the component of  $T - M_1(T)$  with  $x \in V(T_x)$ . Then we have

- (1)  $s(x) s(y) = 2w(T_y) 2w(T_x)$  if  $x, y \in N(M_1(T))$  and  $x \neq y$ ,
- (2)  $M_2(T) = \{x \in N(M_1(T)): w(T_x) \ge w(T_y) \text{ for all } y \in N(M_1(T))\}.$

Proof. (1) By Remark 2.4,  $M_1(T)$  consists either of a single vertex or of two adjacent vertices. Let  $x, y \in N(M_1(T))$  with  $x \neq y$ . We distinguish two cases.

Case 1. x, y are adjacent to the same vertex in  $M_1(T)$ , say x, y are adjacent to  $m \in M_1(T)$ .

We see that  $T_x$ ,  $T_y$  are the components of  $T - \{xm, my\}$  such that  $x \in V(T_x), y \in V(T_y)$ . Applying Remark 2.2 to the path xmy, we obtain  $s(x) - s(y) = -2w(T_x) + 2w(T_y)$  since w(e) = 1 for all  $e \in E(T)$ .

Case 2. x, y are adjacent to distinct vertices in  $M_1(T)$ , say, x is adjacent to  $m_1$ , y is adjacent to  $m_2$  where  $m_1, m_2 \in M_1(T)$  and  $m_1 \neq m_2$ .

By Remark 2.4  $m_1, m_2$  are adjacent. Let  $T' = T - \{xm_1, m_1m_2, m_2y\}$ . We see that  $T_x, T_y$  are components of T' such that  $x \in V(T_x), y \in V(T_y)$ . Let  $T_1, T_2$  be the components of T' such that  $m_1 \in V(T_1), m_2 \in V(T_2)$ . Applying Remark 2.2 to the path  $xm_1m_2y$ , we obtain  $s(x) - s(y) = -3w(T_x) - w(T_1) + w(T_2) + 3w(T_y)$  again since w(e) = 1 for all  $e \in E(T)$ . Since  $m_1, m_2$  are in the median of T, we have, by Remark 2.1,  $w(T_x) + w(T_1) = w(T_2) + w(T_y)$ . Thus  $s(x) - s(y) = -2w(T_x) + 2w(T_y)$ .

(2) From Remark 2.3, we see that  $M_2(T) \subset N(M_1(T))$ . Thus  $M_2(T) = \{x \in N(M_1(T)): s(x) \leq s(y) \text{ for all } y \in N(M_1(T))\}$ . By(1), for  $x, y \in N(M_1(T))$  with  $x \neq y$ , we have  $s(x) \leq s(y)$  if and only if  $w(T_x) \geq w(T_y)$ . Thus  $M_2(T) = \{x \in N(M_1(T)): w(T_x) \geq w(T_y) \text{ for all } y \in N(M_1(T))\}$ . This completes the proof.  $\Box$ 

**Lemma 3.2.** Let (T, w) be a weighted tree. For each  $x \in N(C_1(T))$ , let  $T_x$  be the component of  $T - C_1(T)$  with  $x \in V(T_x)$ . Then we have

(1)  $bw(x) = w(T) - w(T_x)$  if  $x \in N(C_1(T))$ ,

(2)  $C_2(T) = \{x \in N(C_1(T)): w(T_x) \ge w(T_y) \text{ for all } y \in N(C_1(T))\}.$ 

Proof. (1) Let  $x \in N(C_1(T))$ . Suppose that x is adjacent to c where  $c \in C_1(T)$ . We see that  $T_x$  is the component of T-c with  $x \in V(T_x)$ . By Proposition 1.1,  $bw(c) \leq \frac{1}{2}w(T)$ . Thus  $w(T_x) \leq bw(c) \leq \frac{1}{2}w(T)$ . Let  $A_0, A_1, \ldots, A_k$  be the components of T-x where  $c \in V(A_0)$ . Then  $V(T_x) = \{x\} \cup V(A_1) \cup V(A_2) \cup \ldots \cup V(A_k)$ , which implies that for  $i = 1, 2, \ldots, k$  we have  $w(A_i) < w(T_x) \leq \frac{1}{2}w(T)$ . Note also that  $w(A_0) = w(T) - w(T_x) \geq \frac{1}{2}w(T)$ . Hence  $bw(x) = \max_{0 \leq i \leq k} w(A_i) = w(A_0) = w(T) - w(T_x)$ .

(2) From Remark 2.6, we see that  $C_2(T) \subset N(C_1(T))$ . Thus  $C_2(T) = \{x \in N(C_1(T)): bw(x) \leq bw(y) \text{ for all } y \in N(C_1(T))\}$ . By(1), for  $x, y \in N(C_1(T))$  with  $x \neq y$ , we have  $bw(x) \leq bw(y)$  if and only if  $w(T_x) \geq w(T_y)$ . Thus  $C_2(T) = \{x \in N(C_1(T)): w(T_x) \geq w(T_y) \text{ for all } y \in N(C_1(T))\}$ . This completes the proof.  $\Box$ 

Since by Proposition 1.2  $M_1(T) = C_1(T)$  for any weighted tree T, the main result of this paper now follows from Lemmas 3.1(2) and 3.2(2).

**Theorem 3.3.** Let (T, w) be a weighted tree with w(e) = 1 for each  $e \in E(T)$ . Then  $M_2(T) = C_2(T)$ .

The above theorem cannot be extended to trees the edge weights of which are not constant. Consider the following example. Let T be the tree in Fig. 1 with w(a) = w(b) = w(c) = w(d) = w(e) = 1, w(ab) = w(bc) = w(de) = 1, w(bd) = 4. Then s(a) = s(c) = 14, s(b) = 11, s(d) = 15, s(e) = 18; thus  $M_2(T) = \{a, c\}$ . Further, bw(a) = bw(c) = bw(e) = 4, bw(d) = 3, bw(b) = 2; thus  $C_2(T) = \{d\}$ . We have  $M_2(T) \neq C_2(T)$ .

Also in a weighted tree, the vertices with the third smallest status need not be the same as those with the third smallest branch-weight, even if the weight function of the tree is a constant. Consider the following example. Let T be the tree in Fig. 2 with constant vertex weight 1 and constant edge weight 1. Then s(a) = 26, s(b) = 19, s(c) = 14, s(d) = 11, s(e) = s(f) = s(g) = s(h) = s(i) = 18, and bw(a) = bw(e) = bw(f) = bw(g) = bw(h) = bw(i) = 8, bw(b) = 7, bw(c) = 6,



bw(d) = 3. Thus the vertices e, f, g, h, i are those with the third smallest status, and the vertex b is the one with the third smallest branch-weight.

Acknowledgements. The authors thank the referee for the careful reading of this paper.

# References

- R. C. Entringer, D. E. Jackson and D. A. Snyder: Distance in graphs. Czech. Math. J. 26 (1976), 283–296.
- [2] A. Kang and D. Ault: Some properties of a centroid of a free tree. Inform. Process. Lett. 4 (1975), 18–20.
- [3] O. Kariv and S. L. Hakimi: An algorithmic approach to network location problems. II: The p-medians, SIAM J. Appl. Math. 37 (1979), 539–560.
- [4] B. Zelinka: Medians and peripherians of trees. Arch. Math. (Brno) 4 (1968), 87–95.

Authors' addresses: C. Lin, Department of Mathematics, National Central University, Chung-Li, Taiwan, e-mail: lchiang@math.ncu.edu.tw; J.-L. Shang, Department of Banking and Finance, Kainan University, Lu-Chu, Tao-Yuan, Taiwan, e-mail: jlshang@mail.knu.edu.tw.